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+0.1 +0.3 +0.5 +0.9
663.1 | 670.9 | 761.4 | 764.9
204.7 | 207.1 | 236.2 | 237.3
15.4 15.6 16.7 16.9
0.0 0.9 0.9 4.8 4.8
5.8 6.6 7.4 8.8
6.2 7.4 8.2 13.6
6.2 7.4 8.4 10.4
0 1 1 1 1
0 0 2 10 11
0 1 4 4 9
0.04 0.2 0.2 0.2 0.8
0.0 0.0 0.0 0.0 0.6
1.3 1.3 1.3 1.3 1.3
0 0 0 0 1
0 1 1 4 11
21.8 21.9 22.3 22.6 31.7
+0.1 +0.3 +0.5 +0.9
0% 20% 20% 100% 100%
0% 100% 100% 100% 100%
0% 0% 18% 91% 100%
0% 11% 44% 44% 100%
5% 25% 25% 25% 100%
0% 0% 0% 0% 100%
100% 100% 100% 100% 100%
0% 0% 0% 0% 100%
0% 9% 9% 36% 100%
69% 69% 70% 71% 100%
+0.3m +0.9m
+0.1m
+0.1 +0.5m
+0.3m +0.9m
+0.1m
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\ T - P .t
x 104 2
0.1m 0.3m 0.5m 0.9m 0.1m 0.3m 0.5m 0.9m
1,773 -11 -34 -5.4 -92 -02 -06 -1.0 -16
823 -11 -34 -5.4 -92 -01 -03 -04 -0.8
1,165 -11 -34 -54 -9.2 -0.1 -04 -0.6 -11
1,845 -25 -75 -125 -225 -05 -14 -23 -42
263 -08 -25 -41 -75 0.0 -01 -0.1 -0.2
2,695 -08 -25 -41 -75 -0.2 -0.7 -11 -20
4,385 -25 -75 -125 -20.2 -11 -33 -55 -89
2,350 -08 -25 -41 -75 -02 -06 -1.0 -18
1,645 -0.8 -25 -41 -75 -01 -04 -0.7 -1.2
1,680 -08 -25 -41 -75 -01 -04 -0.7 -13
18,624 -27 -81 -134 -23.0
T.P+
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+0.1 +0.3 +0.5 +0.9
56.2 97.6 97.7 100.6
19.6 37.1 37.1 38.2
1.5 2.6 2.6 2.9
0.0 4.6 4.6 4.6 18.6
1.4 1.6 1.8 2.0
0 0 0 0 0
0.1 0.3 0.4 1.1 1.4
0.0 0.0 0.2 0.2 9.2
2.0 2.0 2.0 2.0 2.0
1 1 1
1 4 4
8.3 8.6 9.3 11.0 12.9
+0.1 +0.3 +0.5 +0.9
0% 25% 25% 25% 100%
0% 0% 0% 0%
0% 0% 0% 0%
0% 0% 0% 0%
7% 21% 29% 79% 100%
0% 0% 2% 2% 100%
100% 100% 100% 100% 100%
0% 0% 100% 100% 100%
0% 0% 25% 100% 100%
64% 66% 2% 85% 100%
P
r’—-- 0.3m
+0.3m
+0.1
0.9m
+0.1m
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